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1.  Return on investment, using the DuPont model, based on operating income, for the year ended 











     December 31, 2000.



































ROI
 = 
MARGIN 
x 
TURNOVER



















OPERATING INCOME
 =

x








AVERAGE TOTAL ASSETS




































 =

x
































 
 =
 
x
 











































2.  Return on equity, based on net income, for the year ended December 31, 2000.



































ROE
 = 
NET INCOME 
 /
AVERAGE OWNERS' EQUITY



















Input:


 /




















Result:
 = 
 





































































1.  Number of days' sales in accounts receivable based on a 365-day year.























Average days' sales
 = 
Annual sales 
 /
365 days



















Input:


 /
365 



















Result:
 = 
 













































Number of days' sales in accounts receivable
 = 
Ending balance, accounts rec.
 /
Average days' sales































Input:


 /
 



















Result:
 = 
 













































2.  Inventory turnover for the year ended December 31, 2000.























Inventory turnover
 = 

 /
Average inventories



















Input:


 /




















Result:
 = 
 













































3.  Turnover of buildings, machinery and equipment, and land for the year ended December 31, 2000.























Fixed asset turnover
 = 

 /
Average buildings, machinery & equipment, and land











































Input:


 /




















Result:
 = 
 

















































































1.  Debt (long-term debt due after one year) to owners' equity at December 31, 2000.



































Debt/equity ratio
 = 
Long-term debt
 /
Total owners' equity



















Input:


 /




















Result:
 = 
 













































2.  Debt (long-term debt due after one year) to debt (as above) plus owners' equity at December 31, 2000.























Debt ratio
 = 
Long-term debt
 /
Long-term Debt + Total owners' equity































Input:


 /




















Result:
 = 
 

















































































1.  Price/earnings ratio at December 31, 2000.























Price/earnings ratio
 = 
Market price per share 
 /
































Input:

42.00 
 /




















Result:
 = 
 













































2.  Dividend payout ratio at December 31, 2000.























Dividend payout ratio
 = 
Dividends per share 
 /
































Input:


 /




















Result:
 = 
 













































3.  Dividend yield at December 31, 2000.























Dividend yield
 = 
Dividends per share 
 /
































Input:


 /




















Result:
 = 
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Chapter 11  Problems 11-13, 11-14
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Complete the Modeling:
























Problem 11-14.























Solve requirements b-e of Problem 11-13 for the year ended December 31, 2001.  The market price of Sample Co.'s











common stock was $65 at December 31, 2001.  























b.  Calculate the following profitability measures:
























1.  Return on investment, using the DuPont model, based on operating income, for the year ended 









            

     December 31, 2001.























ROI
 = 
MARGIN 
x 
TURNOVER



















OPERATING INCOME
 =

x








AVERAGE TOTAL ASSETS


































Input: 

 =

x































Result: 
 
 =
 
x
 











































2.  Return on equity, based on net income, for the year ended December 31, 2001.























ROE
 = 
NET INCOME 
 /
AVERAGE OWNERS' EQUITY



















Input:


 /




















Result:
 = 
 












































c.  Calculate the following activity measures:
























1.  Number of days' sales in accounts receivable based on a 365-day year.























Average days' sales
 = 
Annual sales 
 /
365 days



















Input:


 /
365 



















Result:
 = 
 













































Number of days' sales in accounts receivable
 = 
Ending balance, accounts rec.
 /
Average days' sales































Input:


 /
 



















Result:
 = 
 













































2.  Inventory turnover for the year ended December 31, 2001.























Inventory turnover
 = 

 /
Average inventories



















Input:


 /




















Result:
 = 
 













































3.  Turnover of buildings, machinery and equipment, and land for the year ended December 31, 2001.























Fixed asset turnover
 = 

 /
Average buildings, machinery & equipment, and land











































Input:


 /




















Result:
 = 
 












































d.  Calculate the following leverage measures:
























1.  Debt (long-term debt due after one year) to owners' equity at December 31, 2001.



































Debt/equity ratio
 = 
Long-term debt
 /
Total owners' equity



















Input:


 /




















Result:
 = 
 













































2.  Debt (long-term debt due after one year) to debt (as above) plus owners' equity at December 31, 2001.























Debt ratio
 = 
Long-term debt
 /
Long-term Debt + Total owners' equity































Input:


 /




















Result:
 = 
 












































e.  The market price of Sample Co.'s common stock was $65 per share at the end of 2001.  Calculate:
























1.  Price/earnings ratio at December 31, 2001.























Price/earnings ratio
 = 
Market price per share 
 /
































Input:

65.00 
 /




















Result:
 = 
 













































2.  Dividend payout ratio at December 31, 2001.























Dividend payout ratio
 = 
Dividends per share 
 /
































Input:


 /




















Result:
 = 
 













































3.  Dividend yield at December 31, 2001.























Dividend yield
 = 
Dividends per share 
 /
































Input:


 /




















Result:
 = 
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Chapter 11  Problems 11-13, 11-14




Name: 
Enter Name

























































































































What does it mean?  Question 1:
































































































































Write a conclusion about the appropriateness of an investment in the common stock of Sample Co. for a young, single 































































professional with funds to invest in common stock.  In addition to the ratios that you have calculated to solve this problem,































































what other factors would you take into consideration before making your recommendation?






























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































